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2.	Bez	 Wurzeln	 Lösungen	AB	4	
	
1. Vereinfache	so	weit	wie	möglich!	
	

a)	 √4 ∙ 9 = 6	

b)	 √16 ∙ 64 = 32	

	
2. Vereinfache	so	weit	wie	möglich!	Beispiel:	√490′000 = √49 ∙ 10′000 = 7 ∙ 100 = 700	

	
a)	 √40′000 = √4 ∙ 10′000 = 2 ∙ 100 = 200	

b)	 √62′500 = √625 ∙ 100 = 25 ∙ 10 = 250	

	

3. Vereinfache	so	weit	wie	möglich!	Beispiel:	√0,09 = / !
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4. Vereinfache	so	weit	wie	möglich!	Beispiel:	√147 ∶ √3 = √147 ∶ 3 = √49 = 7	

	
a)	 √32 ∶ √8 = √32 ∶ 8 = √4 = 2	

b)	 √98 ∶ √2 = √98 ∶ 2 = √49 = 7	

	
5. Vereinfache	so	weit	wie	möglich!	
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